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6a.
b.
c. Write the differences b

OR
along with classifications.

and Manager.

fan
(10 Marks)
(06 Marks)
(04 Marks)

Module-4
7 a. Define the meaning of Project. Explain in detail the various ways of Project Identification.

(10 N/tarks)
b. Briefly descnbe the contents of Project Report. (06 Marks)
c. List the different sequential stages for formulation of Project Repofi. (04 Marks)
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of management and explain any two in
(10 Marks)
(06 N{arks)
(04 Marks)

Module-l
a. What is Management? List th" funffiiGu,

detail.
b. Explain in detail levels of management,
c. Briefly describe impoftance of Staffing.

OR
a. Discuss the importance of planning Brrefly explain thc general steps involved in planning.

b. Explain any two Management Approaches.
c' write a difference between Formal and Informar organization.

)todule-2
a. What is Motivation? Explain Maslow's Nccd Hierarchy theory of Motivation.
b. DifGrentiatc berwcen co-ordLnation and co-operation.
c. Writc a diflcrence bctween Managcr and a Liader.

(10 Marks)
(06 Marks)
(04 Marks

(10 Marks)
(06 Marks)
(04 Marks

(10 Marks)
(06 Marks)
(04 Marks)

(10 N{arks)

(06 Marks)
(04 Marks)



8a.
b.
c
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(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

(10 Marks)
(06 Marks)
(04 Marks)

$l;r

,ll' ,^*,t*

'riu!lNNls

;ii--,.-,i11fl1tt{i'

,"1*".i;i,rlIct;:r

2ofL

. ,riilllil:,..

',ii'ti.1,.. 
ii

.![. X"...... ." :-

"'$+'{i-'*'

9a.
b.
c.

OR
Define ERP? Explain the importance and need of a
Write short notes on functional areas of management of ERP.
List the planning commission guidelines for preparing industrial projects.

)Iodule-5
Explain the steps involved in establishing Micro and Srnall entelprise.
Discuss the case study of air Deccan (Captain G.R. Gopinath).
What is Patent? List different types of, Patent.

a.

b.
c.

OR

Explain the following :

i) KIADB
ii) KSSIDC
iii) NSrc
iv) KSFC
v) DIC.
Discuss the case study of Infosys * N.R. Narayana Murthy
List the advantages of Micro and Small enterprises.

{.rt***
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3a.
b.

c.

In
w

UDP segment
diagram

Explain TCP flow control in

4 a. With the help of a

and checksum
working of

OR

structure

with
algorithms.

protocol.
(06 N{arks)

(08 Marks)
(06 Marks)

rvith bit errors
(08 Marks)

ina
_,:,,,,,,

Lossy channel

b. a TCP
.' lf 

"irr' "

in'detail
(05 Marks)

l? Explain with example. (07 Marks)C

5 a.

b.

c

S y protocol. (08 N{arks)
(08 NIarks)
(04 N{arks)

following graph. Assume node 'u' as the
(10 Marks)

"4*t'htslin'
a.":-Write

OR
apply it to the

l.

6

source

b. Explain the

' 
'iu'g'li'"'

";::!i

architecture
Fig.Q.6(a)

I of 2
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of a Router (10 Marks)
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(05 Marks)
(05 NIarks)
(10 Marks)

Fifth Semester B.E. Degree Examination, Jan./Feb.2023
Gom puter N etworks,:G Sd Secu rity

Time: 3 hrs. e* [
Max. Marks: 100

Note: Answer any FIVE full questions, choosing ONE full question from euch module.

Module-1
Explain the use of cookie files in *.ffi!'iffinr. (06 Nlarks)

With a neat diagram, explain how SMTP can be used for transmitting mails from sender to
receiver. (Olt Nlarks)

Discuss the working of Bit Torrent for filc distribution. (06 Nlarks)

OR
2 a. Differentiate between persistent and non persistent connections in HTTP.

b. In brief explain the conditional GET operation.
c. Describe the DNS records and messages in detail.



7a.

b.

b

c.

9a.
b.

c.

10 a.

18CS52

security,
(10 Marks)

p:3 and q: 11.

(10 Marks)

(08 Marks)
(06 Marks)
(06 Marks)

b

c. Explain the
application.

Correction (FEC)Error

(06 Marks)
(08 Marks)
(06 Marks)

(07 Marks)
(07 Marks)

technique for loss anticipation in VolP
(06 NIarks)

..."r .i:lir,ll

"t'

::::::,::'

- {rulrl$it'

2 of2

\

Module-4

Find the public key and private

OR
Explain the working of DES algorithm.
Discuss the secure Hash Algorithm.
Write a note on firewalls.

rl.**:F{<
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module,

.ia

(08 Marks)
(08 Marks)

attributes Registration and
(04 Marks)
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Time

I a. Describe the characteristics of approach.
b. List and explain the criteria Of DBM
c. Write an ER diagram to CAR entity type

S.

with 2 key

2a.
b.

3a.

d.

notation for
r) Data
Data

#x*+

conc eptual schema.
i, Schema

ion Language (DML).

(10 Marks)
iii) Instance

(10 Marks)

OR

and

)
with the help of VEHICLE

(08Marks)

(06 Marks)
(06 Marks)Q3(c).

rirlt:i a:

c)

, Sex , Salary, Super_Ssn , Dno).
data)

, Deperffi_name , Sex, Bdate, Relationship).
quer{ffi*'SQl- on the database schema given above.
locatetM 'stafford' , list the project number, the controlling department

DEPENDENT (ESsn

Specify the following
a. For every project

Fig. Q3(

number and the managers last name , address and birth date (06 Marks)

b. Retrieve the and address of the employees whose name is 'John B, Smith'
(06 Marks)

c. Retrieve the and address of all employees who work for the 'Research' department.

iltr.,

Retrievd,thb

it1r,.l",,
Tl

salary of every employee.
1 of2

(06 Marks)
(02 Marks)

ffiffiHHMH

Fifth

iv) Canned

Module-1

superclass.
b. Explain the different Relational Model constraints"
c. Create a table for the Works_ln relationship shown in Fig.

,q,lll$::y

,riit



5a.

b.

6a.

7 a. Describe
following

b.

b.

the 3

Informal guide

18CS53

(04 Marks)

form for the relation by taking
(04 Marks)

design with a

(10 Marks)
are they

(06 Marks)

(05 Marks)
(05 Marks)

and

OR

*****

why

8

9

10 a. Briefly 2 phase

b. Explain Transaction SQL
c. Write a short note on

D Single user and system.
ii) Transaction roll back and Cascadding roll back.
iii) Shadow paging.
iv) Database backup and recovery from catastrophic failure
v) Deadlock prevention protocol.

1) h.cr^u*
-n";il;*i*$;;;.;s" ')toc-cl"t\*,,

..,;. 1..-,..,..,,

2 of2

(10 Marks)

password fields and it also has to

- *. u -.,:-t:+

(10 Marks)
have two

(06 Marks)

(08 Marks)
(12 Marks)

c. Write a short note on : i) JavaScript ii) CGL

Module-4
techniques to achieve first

suitable example.
c. Discuss the lnsertion Deletion

consiciered baci, with an example.

OR
a. What do you mean by Normalization? Explain 2NF and BCNF, with a suitable example.

b. Consider the universal relation R: tA, B, C, D, E, F, G, H, l, J) and the set of *r:?f"Y;i*t'
dependencies
F = {{A, B} -+ {C} {A} + {D, E} , {B} -+ {F} , {F} -} {G, H} , {D} -+ {I, J}}.
i) What is key of R? ir) Decompose R into 2NF and then 3NF relation. (06 Marks)

c. Write an algorithm to find a minimal cover F for a set of functional dependencies E,
(08 Marks)
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a)l;''',..','

(10 Marks)

(08 Marks)
(06 Marks)

: {a, b}
with '10"
(06 Marks)

(05 Marks)
Show that

(10 Marks)
(05 Marks)

,,rii"

2 a. Convert the
,, 't" .....,

follqwiiig
"i$r, . '

b

,,"-"1.^..
. r\$ir !
i .,.'

..,1h ]u",.,,.,r:

Explaiil:{fib s

.Q2(a)
imulators for tate Machine.

that

3 a. Build regu

b

c

State and prove pumping
1-: {a%" In > 0} is not Regular.
Show that regular languages are ,

[Refer Fig.Q3(a)]

0, I

Fig.Q3(a)
Lemma theorem for regular languages

closed under complement and intersection.

I of2
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Fifth Semester B.E. Degree Examination, Jan./Feb .2023
Automata Theory and Gomputability

Time:3 hrs. Max. Marks: 100

Note: Answer any FIVE full questions, cltoostng ONE full question from each module.

Module-1
a. Define DFSM. Design DFSM

i) To accept strings over {a, b} such that each block of 5 (length five) consecutive s}.rnbols
have atleast two a's.

ii) To accept L : {o{ab + ba) I ro e {a, b} 
- 

}
iii) To accept 1: {orbab I coe {a, b}. } (10 Marks)

b. Define distinguishable and states. Minimize the following DFSM.

+A
06

1

I

A
C
B
A
F

E
G
D
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OR

(r) L: { a%'co lnS4,m) 2,P!2}
(ii) L: { o : lrol mod 3 :0 & co e {a, b} )
(iii) L : 1 anb'" i m + n is even I

I

language that can be

is regular.
regular expression

Module-3

A->aA,e
D+aie

parse tree for the string "aaabab".

Nlodule-5

(08 Marks)

defined with a regulai expression can be
(08 Marks)

(a + b). abb. (04 Marks)

(10 Marks)

(06 Marks)
(07 Marks)
(07 Marks)

b. Prove Kleen's theorem - Any
accepted by some FSM and so

c. Obtain NDFSM for the following

a. Design a PDA for the language

1-: 1 or<oRl to e (a. b)- where ot* ir r.u.rte of or I

and show the moves made by PDA for the string "aabcbad'and "abacbba". (10 Marks)

b. Define Leftmost derivation, Rightmost derivation and Parse tree. Consider the grammar.

OR
a. Define CFG and design a CFG for the following language.

(i) L= tO'n l'"2" ] m>l and n >0)
(ii) L: t tr-rc,lr'( 1oe 1a. b1. )

(iii)L: {a"b''"k;n+2*:kform>0and n>0 } (l0Marks)

b. Define CNF. Convert the following CFG into CNF.

S+ASBle A+aASla B+SbslAlbb (l0Marks)

Module-4
a. Define TM and design a turing machine for L: {ro I ote (0+1). containing the substring 001}

Write transition diagram and show the moves made by the Turing machine for input string

10010. (14 Mark$

b. Define and explain DTM and NDTM. (06 Marks)

OR
a. With a neat diagram explain the working of Multitape Turing Machine. (08 Marks)

b. DesignaTuringmachinetoaccept L: {0"l"ln> 1}.Showthemovesmadeforthestring
001 I and 001 I I (12 Marks)

S+AbB
B--+aBlbBle

obtain LMD, RMD and

Write short notes on :

a. Linear Bound Automata
b. Church Turing Thesis
c. Non-Deterministic Turing Machine

OR
and Post Correspondence problem in Turing Machine' (10 Marks)

b. Discuss the
i) Decidable Language (05 Marks)

(05 Marks)
***<*<*

ii) Quantum Gomputers

2 of2
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F'iIth Scnrcsfcr Il.F-,. Degree Flxanrirration, .[arl"/Fe [t" 2{123

Application Developrnent usirrg $Byt*"lmm

.l'itlc. 
.l lrr':.. 1,1 ;rr \rl ar-l<s: 1 i)r t

\oiir: .,ltr.tfi:ar rttt-1t f:lt ti t'ull qttesriort,t, cltoosirtg fi\'tI.t'itlt qutstiott.t'i.otri trtt,lr rrrotlulr.

Module--[
I l.t l.t:;l tltc sali*"rnl l'ciilLtrcr o1'python ltrogiarlnting li,nliLragc ((i.1 l't;r, t,r,

urclr. Slrou, stcpsio ci,alrrato(5 - l) +-(7 + 1)(j - 1lin pytlron. (08]l:rri,',
c \\''r'i1c i.t pr()grall lo f iir,.,l lhc surt-t ol'all odd Anrl cr,'tlr.l nrirn['ir,rrs rri'ir r:]lcllr:nls. IIr:r'c s1<in il ..

nunrbers which are divisible by 3 (08 N,Iarks I

oR
( iivc onc cranrplr: fbr cach of the operation be lou, r

r) String concate n;rlron and replir:ation,
ir) Ili:aci tiip,"ii rnd ilrspilry
irrplarn.
r) Dct'st;.iterncrits itrllr piirantcters
ir) Rclurn r,'alLrcs and icturn statentents u,i1h an c

\Ioclule-2

n lrylhon ianguagc

U
t-)

!:'
(3
f

.C

2

al) ')-
-a

;/

.: e]

OI
pE
L!

'1: t.

ad
r, ),() :-
,l!

-) ';

a

TJS

l')

D-C

'.) :
,'i 2

3 i)
t t:;

!-O

c-),r-
>!; -,

.)=
F>

.*.l

a)

'/-

o

2a

b

(10 NIarl<s)

(l() )li,r'li'l

t

I.+

ii l)tst,'r:i:; tlrc clil'fcrr:nl rr11,s o1'travcrsrng a iist. [:xlllain cach vvilh an erarnplr]. (l{} }lrr;.li.,l
b. \\,'r'itc a p-vthon lirograrr thart allor,vs a plaver to gucss it secret nuLnbcr u,rthiri 6 cliiiirr:cs. '1ht,

r otic ihal lcts thc plal,cr cnter a gucss and clrr'e its llrat gucrss is liilht or noi itv pr.r:rltri::
ililfrl()[]riiltc ntLrs:ii:]gc. List nl'nltnrbels iire talicn as iLn inpurt tiom tiic iirer-. ([],-/,r!:r ri.i,

c. \\/rtlc ir pr'()gralr to tlcrnonstrate the use of'pri:ttr,firnctron. (0.1 l\lrrltr:

oR

1)i:';1ti,i'r llic rcslr ll:. ii) i'' .!tinlr iir :,,lriol. (08 . !;r,"r,',,
c. \\ritc thc string nrcllroci syrtax in pytiron to perlbnn bclor,v opet'li1ions.

i) ilcrroving'white spacc charactcrs fi'orn bi:ginning. c'ncl or itolh sril,:s o1'a stlins.
ii) 'l'o iighl-.jrrstii,v. 1c1't- jurstily :rnd centcr a string. (illt i\r::r i,:r

a. I-ist out the clil'fbrcnL chiiracte, .toHH#leprcsentation" regrilal cxirlcssiur svirir,l,-
i:xlrnrplc attrl meanirrgs ftrrt:ach clraracter class. fi() ]l:n.t,::,;

i'r i)csci'il-rc tirc lbllou,ing r,r,itlr suitablc pl,thon cotlr.: srripir,:l:
11 (-iri:crl1 trnrl Noir Crccrly 1-ra1tu'n ntatchinll.
ir) l'rnclall( ) rlcthori ol l{cgcX object. (10.\iurr,."r

I o1'l



18CS55

OR
6 a. Write a pylhon prograrn tu renarne the filenarnc i;ontains Arner"ican style dates

(MM - DD YYYY) to European style dates iDD MM - YYYY) in the worl<ing
d ircctot'_t',

b. \\'hlrt rtrc ,\ssurtion:i rn python'i l:ixplain with an exatnple
e . l.11:iiiii, Llic lilc reiriiitis arttl r,l'riting process r,vrth sLtittirlu pr.'t.1ron f)l()rr_.i iliii

( l0 !larl<s1

(05 i\'larks)

iU5 r\'lrrirs.1

1

ti

I

N4odule-4
a Ilow ob jccts arr rrLrtahlc by rT llurc -justify witl'r an exanrplc') ((i.l l,!;rli.r1

tr l)i:,cLrss Lhc ntcthoris isinstirnr.:c( ) and hasattr( ) witlr suitablc c.ranrplc' lbr circlr. (()6 iltiii'iisr
c. \Vhirt is opcl'al()r over kradirrgl Write a prograr.I:r to atlcJ tll,o 1rt-rint ob.lccts b\ i,iarli)lr.lr;rr.,.

()l)(,'{.r[{)r' t\isl, rrycrloa,,l -- sii' ( )to clisplav pttint as an orc]ert:rl ltair (t(} \t;,-i,s,

OR
a. l)cllne irrircrit:incc Exltiarn t,r,itlr an example.
b 131ic:i'h,cliscr.rss rhe importanr-'e o1'- -init- -( ) and - - sti -
c. I)crnon,;tr.l-rtc ihc poll'rlorphisnt to generate hrstogral:t

lcltcr ll)llrllrs rrr lvord lrnd in selltence.

a. Anal1,2s the steps involved in do
wrth program.

t.)

(06 \"Irrrl.s)
( ) methods in pvtirorr. ({t,l \"trirks)

tr) ei)Llnl tltc r.tirnrbcr o1'liilc: .lri:lt
(i0 \lrn-irr7

Module-5
rvnloading and savilrg ',', ch plt[e (in 10 liicir i t,,'rrte nr li lr;ir,:

({l(r \l:r, j:::

oup passe l. rctricr,: rll oi tlri
(U6 l?l rrrlis.l

rncthods Clo rt lrse s to srrnLll:rlc
(08 IIirrl-si

C

Write a program to read th
censLls tracts in eacir coun
resu its

e 843

OR
r ce nslls ciatir fr cin-r

trv. c0LUlt thc total
i0 a. thc ex.ce I sprcacishci:t, couirl. llii-' rr,.rnrb,:r ri i

ponttlatiiin oi' etcit coLrntr,\1 anii prrnt" riri

POPIOlu

I 894

5592

t'lttc c.r:iun1)lc,

(08 Marks)
(04 Marks)

I'}DITS usins n

-encryptecl pcli'
({}8 \t urlis)

a iblticr anci cncrvpl llrc
b. llut'to zip tlrc llies and
,. \\., .., .,.;..' ,li.rt llrll.)l l 

'I,I 
l gol

'r+++^

llll:,s\,,'itriJ prot,'icieci on Litc c,Jur]1r[[cl linc. Savc cach encrl,lttcd ]'l)lr r,r'ith an

-rLril ii, aridccl to rhe original iilcname.

I L cusus tract State

9E4 I 0607s0 I 0500 CA SanFraircs ic..r 26ti5
r)842 06075() I 0600 CA Sanl'r'anc rsco

06117-5lrl070t) (';\ SanFrltrrciscro

2 t>l- 2
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b. Explain allthe features operatlng systeln
c. Write the output for commands:

i)

(09 Marks)

(05 Marks)

(08 Marks)

ll
iii)
iu)
v) who

2 a. Explain the different categories

3 a. Explain all of .ts

b. Consider txt with

L.

(06 Marks)
and differentiate absolute

(06 Marks)

)

,, : '::':

''\tii",,

..::

''ll I'l

"':1. -l:ii' OR

of files with

,l'

progs

command with all its options

(06 Marks)

as - rw - r - - r - -, gratTt execute
members and execute

(04 Marks)

(05 Mark$

examples

iii) mv *.[1c][!P][!P]
iv) cat *..txt I wc - C
v) cp chap\[0 - 1\].

d Explain the grep

', 

]:l 
.]

I of 2

(05 Marks)

- xttli

]ltu fr,

,+,r "t'1 Ji
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Fifth Semester B.E. Degree Examlnhiion, Jan./Feb. 2023
UNIX Programming

Time: 3 hrs. Max. Marks: 100

Note: Answer nny FIVE full questions, choostng ONE full question from efich module.

Module-l

USN 18C556



4 a. Write a program to
given file.

b. Write the output for
i) grep "Anil" std

ii) test $x-gt$y
iii) [-Z $stg]
iv) [-r $file]
v) [!* n $stg]

d.
Explain all the looping statements
Write a shell script to read
pattems in the given file which
[Ex. Command line

5 a. Explain the General

b' Describe the of a C
API's with

6

18CSs6

pattem in the
(05 Marks)

(05 Marks)
(06 Marks)

) with their prototype
(10 Marks)

a diagram and explain memory allocation
(10 Marks)

c

prosratqith

7

8

9

4li' OR
ss. Explain all the coding rules to be followed while coding a

(10 Marks)
(05 Marks)

10 a. Define the
daemon

b. Write a note on al timer.
c. Explain the BSD syslog facility for handling Daemons effor messages

+*x+*
2 of2

(05 Marks)

b

OR
a. Explain sedmp and longjmp, getrlimit and setrlimit function with examples. (10 Marks)
b. Describe how the process is created by using fork( ) and vfork( ). List out the properties

inherited from the parent when the child process is created? (10 Marks)

Module-4
a. Explain the implernentation of ,yrt.*Gising fork( ), exec( ), wait( ) API's.

(10 Marks)
Define pipes, write a program to send data
its limitations.

Iiom parent to child using pipe API and also list
(10 Marks)

b

OR
Define semaphores and explain how the IPC is implemented using various semaphore
API's. (10 Marks)
Explain the implementation of shared memory IPC mc'chanism with all its API's and their
prototypes. (10 Marks)

a.

b.

the signal is raised. Explain the
(10 Marks)

to a process and explain the
(10 Marks)


